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General Instructions :

(i) Answers to questions carrying 1 mark may be from one word to one
sentence.

(it)  Answers to questions carrying 3 marks may be from 50 - 75 words.

(iit) Answers to questions carrying 4 — 5 marks may be about 150 words.

(iv)  Answers to questions carrying 6 marks may be about 200 words.

(v)  Attempt all parts of a question together.

1. ‘fouse grEald gfeag fafiee’ 3 afeddt ta wal & uiegs o fafywar ur
$1 2 | 3HhH dNR § A=) 9@ § Hifeh I8 3fa gy 9 3fd wH W sl
ug Gfestat @ faafid i B |

39 I o THIF H RV od Y 3g@ hHiC foh Nawser graare afdas Hi
SHrRfc Yoil sl STTEvIshard H BT AT IAH | 1

‘Reliable Transport Services Ltd.” specialises in transporting fruits and
vegetables. It has a good reputation in the market as it delivers the fruits

and vegetables at the right time and at the right place.

State with reason whether the working capital requirements of ‘Reliable

Transport Services’ will be high or low.
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2. Tl e e foafids’ uw uftg dHived yHied we @ W el we e % o
Sferer dived yETeHl Sl U ) B | ) 3199 Scarel o fore el W s
ATl ST ITANT HLl & R W H H. 1 Gigd JHIEH U8 7 | Ig 7 had AU
SUARISTT ! TGS B 7 UG 39 U7 il aued gearn ° ot favara wdt 7 |

‘ot e wed fafee’ g AR 9 arefl fauvH weew staumum Rt
gAY | 1

‘Glow and Shine Ltd.” is a famous beauty brand offering organic beauty
products for men and women. The company uses plant-based materials
for its products and is the No. 1 beauty brand in the country. It not only

satisfies its customers but also believes in overall protection of the planet.

Identify the marketing management philosophy being followed by
‘Glow and Shine Ltd.’

3. US4 ‘HAMNYE Hied ¥ T 50 AME hl Th HR WG | FFH] J TS hHl 954
T 3RS UGN TEgd fhU S — YoM @ aui o fow guwa |, 20,000
fepcter deh TwTE-getts (Tfdfi) 6t gud Tard 3R 35 foft SR H W A
S 9 B UgA™ i H AT, I1fG | Afer %o fo a1g wohe w1 & T R
HR THIR Sod! T8l Tehgd! MR 30 397 § $© TUel & | HFE! 3 fomm amma
% HR hI ABR-gATS (AERT) 6 Afer T oft e saes fsurgr @ w@qe &
o | ‘HfiNes Aied IW WA WiifshA TE ¢ W A | I I UsH FHARE H
RreprId &5t L, AR 98 38k UlE | G 81 g7 | 98 95d 3Tfush e
o7 3R 31 HEH % w1g 384 I8 Fofy forn % o sk foeg orfia = |

FIT Tohal TsT HHITE o U & fovg Tfid v Fohal 8 2 3794 I & g9eA
T SR e | 1
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Pankaj purchased a car from ‘Abhishek Motors’ for ¥ 50 lakhs. The
company offered many attractive gifts to Pankaj like — free insurance for
first two years, free pick-up and drop facilities for free servicing upto
20,000 km, etc. But after a few days Pankaj noticed that the pick-up of
the car was not good and there was some problems in the engine. The
company serviced the car free of cost but even then Pankaj was not
satisfied with its performance. ‘Abhishek Motors’ is not giving him the
due response. So he filed a complaint in the State Commission but was
not satisfied with its decision also. He was very much disturbed and after
two months decided to appeal against it.

Can Pankaj appeal against the decision of the State Commission ? Give
reason in support of your answer.

4. I8 FI hgl A1 7 o J&-g & g Tehld ¥ J&Id: agTe aid @ ? 1

Why is it said that principles of management are mainly behavioural in
nature ?

5. ‘T @sfha@’ dis (W) oI aTell G1Sfhal S T IcqTed R @ B 3R
ISR H 3G THIURR § | HadE 95d 3101 9 @ &, AR Hrodl & a9
fasha o 10% 61 ghg o 10 I3 ! - ITed @ 7 | 310 sl o=
fhIE & 3G BIht HFIHT o Jea-g-Heeeh 4 37Tt oy fashdl § 15% 3hg
IRl dEd @1 | 3H 9N SR § g Ui 3 ot yar fohen formes wwo
HETH 7T & hl T B | 31EH T |

Y=g o HIAT H § Teh b <hl 3T HHT sl TgATHT N8 HRUT Hrg-T 394
A& ! Ied hid T A E | 1

‘Bawa Cycles’ was in the business of manufacturing racing-cycles and
had a monopoly in the market. The business was doing very well and the
company was consistently meeting its objective of 10% increase in sales
every year. Encouraged by the good track record, the Managing Director
of the company kept an ambitious target of 15% increase in sales for the
next year. The same year two competitors also entered the market and
because of this the company was not able to meet its target.

Identify the limitation of one of the functions of management because of
which the company was not able to achieve its target.

Get More Learning Materials Here : & m @& www.studentbro.in



6. VI AT fRE YR Weh HFAH! hi S TTEAT o TIH ohl YW it & ?
3@ IR | 1

How do ‘Floatation costs’ affect the choice of capital structure of a
company ? State.

7. Schiewr 9 w7 AR B 2 1

What is meant by ‘Liberalisation’ ?

8. TIINH & T TR & ®9 § w1 379 warsy | 1

Give the meaning of ‘Rule’ as a type of plan.

9.  Uh TS & HAcH &id ol o1 31 § ? 3Heh kgl ol <INl oAl ool I | 3

What is meant by functional structure of an organisation ? State its any
two disadvantages.

10. YSt SR Td ggT IR % = Feffad snuri w s Hife 3
(27) fqurft
(7)) ww=

Distinguish between Capital Market and Money Market on the basis of
the following :

(a)  Participants

(b) Instruments
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11. Fd.um. [Aiee 950 9l 9 o8 @ fope o1 @ 2 | 30eh U MG
150 HHaRl & S0 @ Afehat SRISH-Iaiato § 9 98 & | 39 Bl
HH-3TEd QL 98d Sl g | 31d: w4 feufa 1 fovawor & & o © 7T
HHE-GHTEA-Jaeeh, e i 3w foam | FefiA =1 gar =en fob wrot o g
1 JaTg 3t T8l &, IR HAANET o gerai a1 RrepEmar w1 g+ % g a@t
IS A Ul AE 8 | FFT 9gd HH AR AT HIER{dh HRHH A
HAT ], HEAR hadd TEAT T AT &, AT B THTG Hd 7 W I I 8 |
(31) 3IuIh afvia TN 1T B TEATC |
(F) 3I9gw GRNY 1 i fRE Aofi § afika R S Eekd@l B ? Sooi@

SHifsr |
(@) 3@ Iof} Y Uk S TN 1T Rl THSATEY | 3

‘KPM Ltd.” is manufacturing breads and biscuits for many years. It has
approximately 150 employees and most of them are not happy with the
working environment. Because of this the labour turnover rate is very
high. Therefore the company appoints a new Human Resource Manager,
Naveen, to analyse the situation. Naveen finds that there is no free flow
of communication, and there is no suggestion box for the employees to
voice their suggestions or grievances. The company rarely organises a
social or cultural gathering, the employees just come, finish their work
and leave the organisation.

(a) Identify the communication barrier discussed above.

(b)  State the category of this communication barrier.

(c) Explain any other communication barrier of the same category.

12. foawor #reem & 99 R SN Rt e TR TR uvifad wd @ 2
HHATST | 3

How do the ‘market related factors’ affect the choice of channels of

distribution ? Explain.
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13. ME TR {iwmR e’ & 91 T wHaee & ®9 § SR H @ o1, A
ST YfGHW T BN I B W oft | w1 dEF gfdafeT 200 1A
G FAT T ICATEA BT AT | IGH1 BRI Ig AWIE AT o foh Iedted
w1 TAfder 9 9 Iaar ® 3 390 fordt Tehr <Al ShIs o919 9 37U | 39 T
w0 & fou g8 AT ey <ar of 3R 3§ 919 W S <1 o foh 3T e
foran SITU | a8 s fovame w@ar o fo fisares &t <@d §T R T <8 g
faw < wehdt 2 |
3TRE GRI YIS 7§ ~cd il hl T8a HIFT TAT 8R! IUMH hIT | 3

Aarav was working as a supervisor with ‘Neer Purifier Ltd.” which was

producing water purifiers. The target of the company was to produce 200
water purifiers every day. His job was to make sure that work goes on
smoothly and there was no interruption in production. To achieve this, he
always gives orders and insists that they are obeyed. He believes that
reward or punishment both can be given depending upon the

performance.

Identify and describe the leadership style being adopted by Aarav.

14. TS % HEE W THR S a1 foheal aR fogal o1 Ieei@ i | 4

State any four points which highlight the importance of management.

15.  IUMIET G0 ATy, 1986 & 3T=avid fou wu 3usiht & fo=r srferenrdi

HHATRY : 4
(31) = 1 IR
(9) afagfd = Al

Explain the following rights of a consumer as provided under Consumer
Protection Act, 1986 :

(a)  Right to choose
(b)  Right to seek redressal
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16. Suw fafiee’ v faene wa Iur-unan areft ot § S 9Rdi SR % fae
ATAT%ITd FHI 1 IcdTeA HL @l & | I8 319 3 9@l hl gL ou i Fid
T gl 8 N T8 I dehieh Tl AefiAl A Few o w1 fomam = @ R |
s Y After AT B9 % ST Sehiiceteh fod hl STEOwIehdT & | HEAT A
fotar foren fop a8 wwar o791l IR ek fo wehia oft | gmar o7 & I
T H Fgd ek fFHA Ara (Fereed iwe) ffgd @ | feie arm (wedieeE
HIEC) & @l ol T B b (oI HEHT 4 5T IR 6 Teh@l i ST H &
&1 folg fom |

(37) 3w I3 * A Frht g1 SR % o Toig 1 TE 9 a8,
3G T Sd1d g 3 HHEATST |

(@) 39 o % Weaw ¥ H et srafy % fa foe wmw o wedt R 2
(@) 39 Yor@ i 3N ford 3w o Tofe Sui & S S Eehat B 2 4

“Zaira Ltd.” is a large and creditworthy company manufacturing
air-conditioned buses for the Indian market. It now wants to export these
buses to other countries and decides to invest in new hi-tech machines.
Since the investment is large, it requires long-term finance. It decides to
raise funds by issuing equity shares. The issue of equity shares involves
huge floatation cost. To meet the expenses of floatation cost, the company

decides to tap the money market.

(a) Name and explain the money market instrument the company can

use for the above purpose.

(b)  What is the duration for which the company can get funds through

this instrument ?

(c) State any other purpose for which this instrument can be used.
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17.  ‘omurien foener™’ dIeAshy, UIgTshH-GgHl 9 shier-arardt fspmedt o fismr
e faenfer o galgion faswm A faveame wgdr & 991 dW WieT i S e aar
7 | T Tl feam W fqemer Sl U WS SRihH TEqd T o7 | HrihH
gra=eft faftm wedt <1 Iom s % f9U I8 <@ gE a=1 <l Tk HAd
T8 | 3= 98 T forn fh d9mee % faw 9 gH-afhe e w1 T
AT | ITH Tehdl T THG I HIGHT off 3TN T HEET Th-gal I TgaNT
® 9 | U favam® Td A99 hl UToAT & hRUl hibshd SAarEdd €9 I
ffsa e wrifea 8w | eRfamg 3, S uH S=Ii B ¥ U o1, Ig TV
fora fop oo # v & IS ©9 wEieed | 39 ed 3 YeRg & fofie
fograi § 9 w1 9¥ TR B | 98 SRshH Al I%hadl ¥ 3adT 3Tty Ui
g7 Toh 38 o1 oSt 1 3t frgra o1 oo SeEm # oM o foie et |
3Gk TuarSit 3 SIarn foh 98 9gel 9 &) 39 fug 1 S e ® |
(1) FRHH S Thadr & fore J=T fohu U gereg & fagea &I gg=EnT |

(§) oy i 37 3 fanwaneti <1 sg@ FIfe 57 w SwdE sgese # g
AT T 2 |

(@) ‘omunfyren fomme g @AW @l wRIfvd fhu e Rl @ gedi
TEEH HINY | 4

‘Adharshila Vidyalaya’ believes in holistic development of students and
encourages team building through a mix of curricular, co-curricular and
sports activities. On its Founders’ Day a stage performance had to be put
up. A committee of ten prefects was constituted to plan different aspects
of the function. They all decided to use recycled paper for decoration. As
there was a spirit of unity and harmony and all members supported each
other with mutual trust and belongingness, the programme was
systematically planned and executed. Arvind, one of the prefects, realised
that unknowingly the group had applied one of the principles of
management while planning and executing the programme. He was so
inspired by the success of the function, that he asked his father to apply
the same principle in his business. His father replied that he was already
using this principle.

(a)  Identify the principle of management applied for the success of the
programme.

(b)  State any two features of management highlighted in the above
paragraph.

(c) Identify any two values which ‘Adharshila Vidyalaya’
communicated to the society.
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18. ‘wifeqes foifies’ o AR St g8 HIT I QU I & (¢ HFA gRI ST
T8 PR HIHT T H HA b AW TE & | AT HAAN RAeh o
fafieh TTigeH Sl HIT AL @ 7 | HHATT o TR-IR AT oh HROT THdefeh T
g 3AH TR R |
gara difve 6 Ty fra yR U=t & HId 9 T 6l gt 38
W €9 8 R G & AT 47 Tohd 7 |

31 o9 ol w1 off 3g@ hifSTT Sl hHETNET il UdeTesh o MUl grRi = B | 4

The workers of ‘Swastik Ltd.” are unable to work on new computerised
machines imported by the company to fulfil the increased demand.

Therefore the workers are seeking extra guidance from the supervisor
and the supervisor is overburdened with the frequent calls of workers.

Suggest how the supervisor, by increasing the skills and knowledge of
workers, can make them handle their work independently.

Also state any three benefits that the workers will derive by the decision
of the supervisor.

19. 7 9 20 wH=TRE % wy AR g SR % foae Trd-dem fafes” am a
a&d gl s <l T HEf ATH hl | 09 YRS Nt § w4 SEd
et % TR | e Icue 3R 9 SN SEeRt fouve Wt ik TR @ B @
oT, JUAT $HF 3G I AT §¢ TS | IUE Hl §GH b AU HEGA I
fafh safmal 1 well et 98 | g, S ued dR e W o @ o, 59
a1 MBI T A BT U1 | 30 g favarg o1 fob W+ ol =i
IHTEYU & § T B b fore oTefiaey QUi &9 § dem, THef Ud |reH-avd 8
3R g Fyuii vl IWTEqUl @1 & AN i 1 ST 331 Thd & | $Hh
e gy Tt iR FFal 9 hadl 3TUHT AT dgH H hIHad @ 31iug
fafir fommarstigsh a1 399 1ot IcuTg sj@en § foeanr off o foa |

(1) 3IH JAIYRM hl YgaTHT, fTHHT T b 8 YT HFHT bl ATeh
FaTgdl deh o I § HeW & T

(9) 39 STAURN % HEwd o (oheal dI (653t ! Hf THLATIY | 4
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Harsh started a company ‘Tiny-Toys Ltd.” to manufacture economical toys
for the Indian rural market, with 20 employees. The company did very
well in its initial years. As the products were good and marketed well, the
demand of its products went up. To increase the production the company
decided to recruit additional employees. Harsh who was earlier taking all
decisions for the company had to selectively disperse the authority. He
believed that subordinates are competent, capable and resourceful and
can assume responsibility for effective implementation of their decisions.
This paid off and the company was not only able to increase its
production but also expanded its product range with different features.

(a)  Identify the concept used by Harsh through which he was able to
steer his company to greater heights.

(b)  Also explain any three points of the importance of this concept.

20. ‘=i TS 1 AY FARY | 3Eh fhal a ol ud fRgl g QW
I i | 5

Give the meaning of ‘Informal Organisation’. State its any two
advantages and any two disadvantages.

21. U FHEH! HIEEA B 91 HH o € Hier 39 1 fmior & @ off, 1 =95d
afess A § 4 | ¥ R T 6w fT ¥ 500 WieR W9 S W w1 A
FHHAR I T3] B 91 @ o | foIeeivor W a8 ot = o e Terdt ©° a1
¥ | e WA S STIAASHAT o B TAT HHATIT hl HHT o BRI HFIA 37T
fruff@ det 1 g F& H a1 R A qAT Jehfcds STl hl STETIHRAT
off | 91 8 AT ol QU HH h (AT FFIHT 7 SAH T fob TTHT 66 IATNH
AT 6 A off, ad @ 6 ffte faumm & rswet & w9 &
HA qAT 10 T A o A e % ®Y H FR HUN | ATWH
T Td il fafimedrati w1 Wt gEiag X foren o | wg off fofa foren mn
5 Ted & e 9 Yol W Afgansn, fUse qem unfior &= o o a9
Ry mran ot <A Rt IcHTiEd R o fore ge & Smw | e it et
1 IR T I Tehid o A1 M i o g @ o fohg 71T | 5
(31) 3I9Ih afvid Ja-g < BT Bl TEATHT, |
(F) UEEH T YA 1 T UHAT ok 3T g TN H1 Iooid hifae fomeht

i Iwdh 3T =ee | foham w7 |
(@) H TRl a1 oAt I T ST S HFIHT FHS hl NG HET Aradt
2 |
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A company was manufacturing solar panels for charging of mobiles which
were in great demand. It was found that the target of producing 500 solar
panels a day was not being met by the employees. On analysis it was
found that the workers were not at fault. Due to non-availability of raw
materials and shortage of workers, the company was not able to achieve
the set targets and alternative arrangements were needed. To meet the
increased demand the company assessed that approximately 66
additional workers were required out of which 6 would work as heads of
different departments and 10 would work as subordinates under each
head. The required qualifications and job specifications were also
enlisted. It was also decided that necessary relaxation should be given to
encourage women, persons from backward and rural areas and persons
with special abilities to assume responsible positions in the organisation.
All efforts were made to match the ability of the applicants with the
nature of work.

(a)  Identify the functions of management discussed above.

(b)  State the two steps in the process of each function dicussed in the
above para.

(c) List any two values which the company wants to communicate to
the society.

22. Uzt co vl @ wea Tewas fafiee’ 4 & = @ 2 | 98 +9 & gfd 3mq
Tadur & fou ufag B | 99 3T9 afte Yeruw artad geT @ sHe @t
sl 4 I8 9en o ke Al 379 YerEid g1 I | S 39 @il 9S <kl Ueh
el =l PR e grn R e T at |t 6 oTeeRl geT | Heh SR
HIAT 1 IcATE W1 B T AR IFh Fsared e 3 o/ omn o 3sEd
3TY-3TTY 1 TFE IFTAMCAT HEAT & L AT 3 3794 AL 1 I T8} L
a1 &t off |
AT THAT Teh T3] Aa1 ot St 394 Aefieedi i 7 haet Y <l off, fug
I8 ATIeRId U IR ot it off | 3T e & a8 I I e fe
3R 39 Hegy fohaT foh 39 TISaTeT # GUR TohaT ST Hehal & | 36 1T ol
e o fAufa wrereft fowen & wfier s arey o e o 38w = -Eiy
T Te-Y FrHfd T TGET ST QAT | 376 1T e H 90 T 3T off 3R
3Iqeh TeaTe § Wt YR §A1 I /1 TR |
(e1) i gru fAsurfea sere & @Rl 6 ggEE HI |
(¥) ve9 % IUYH BRI o IG a1 AW FASC ER FERAT | AT

TSN o SEER H U HL Thl |
(|) ST (F) H I8 U ad i fohegl o TaRIyaTsti o1 Seor@ il | 5
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Kavya had been working with ‘Reliable Ltd.” for the last ten years. She
was famous for her dedication towards the work. When the manager
senior to her retired, all her colleagues thought that now Kavya would be
promoted. But to everyone’s surprise the vacant post was filled by an
outsider ‘Miss Garima’. Because of this, Kavya felt demoralised and her
performance started declining. She would absent herself often and could
not meet her targets.

Miss Garima was a good leader who would not only instruct her
subordinates but also guide and inspire them. She noticed Kavya’s
behaviour and felt that her performance could be improved. She started
involving Kavya in decision-making issues related to the organisation
and made her a member of a high-level joint management committee.
Kavya was now punctual to office and her performance started

improving.
(a)  Identify the function of management being performed by Garima.

(b) Name the element of the above function of management which

helped Garima to improve Kavya’s behaviour.

(c) State any three features of the element identified in (b) above.

23. Ty & Hfcfaa fagmal = gHesy 6
(31) TR T@ WA
(4) UcHP Th ohl ITeh! JTehIIEh &A1 & foIU T

Explain the following principles of management :
(a)  Authority and Responsibility

(b)  Development of Each and Every Person to His or Her Greatest
Efficiency
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24.  FrEEl e XIIH arivrsy i ueh forneff off | swes fuarsht wh fopam o S g
1 fofi foped Id & @en 78 Ieaed < farfvm el o qof w9 @ Fgw 9 1 @
FEHR G T8 <l Wl T Teh HAR(Eh IIESHT o fIg Wt g4 ¢ | T qism
% T H 36 I UE] 9Tl 715 ol I Jedl T TauuE i shl wrreadr ©
A H A1 o T | 3k fuarsht 4 38 gema fen o amesi & fa=mi @
Al 1 941 AT % T 98§20 1 3T B | 6 qr fop Aforeh-eh g H
Fga At A off | 3/ var on o6 A A feufa § 8 qd-Fuifa fafireand 72
Bidi, e HRU Icqe T ThEUdr T hT Hidd Bl & | A9 3IcqE ol
wiEifEl & s i % T 3o 38 TEm-Aiteag, w1 AW faan ofi Sl
e o HTYR T Ier, Falteeh qd1 G| ameh o fafte St & afe
fean | 387 9% wegy for T 3 9w 39 3cae fawdiew o wagar i |
394 3TIe8E % Hed # fauuM % W S i gy | 6

Vasvi was a student of Commerce in class XII. Her father was a farmer,

who grew different varieties of wheat and was well versed about various
aspects of wheat cultivation. He was also selected by the government for
a pilot-project on wheat cultivation. As a project she decided to study the
feasibility of marketing good quality wheat at reasonable price. Her
father suggested to her to use internet to gather customers’ views and
opinions. She found that there was a huge demand for organic-packed
wheat. She knew that there were no pre-determined specifications in case
of wheat, because of which it would be difficult to achieve uniformity in
the output. To differentiate the product from its competitors, she gave it
the name of ‘Mahan-organic-wheat’ and classified it into three different
varieties namely — Popular, Classic and Supreme, based on the quality.

She felt that these names would help her in product differentiation.

Explain the three functions of marketing, with reference to the above

paragraph.
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25. ‘fufeeran fafiee’ w wraft 2 S fioss & Ul &1 IcqeT = & 2 | fusd
HIh TN T Tg AMAR TS o Afid B W 7 | W a8 off 98 walfeq oy
I & ° 9% W 8 | HEET % I g Ushs R wfosy # fas@ &+
3T AT ITAY § | Ig Th Wll-HiTd JaT-4d T & a1 ura, USHR
T STEER qAT FTS] Uit dghi H fava™ T@dl 3 | 369 98 °
YR g A1 A9 fawr w Fafia s weaq s vt wfiekar <d |
HIOHT | TH. AR, I ¥ T 60 ARG I K0T fo7A1 7 R FOT U o AR
AT o M o ol $ Ufqarei o e 7 |
HI o TR H 39 avia 39 fIfie Srept i 3T Toha hear 7, S g Foi
od 8, T st gro @y o fepa s wfdenia feeem Site o femam W
foafea feram SITQ |
I® AU H URRAl 3gd A gL UH TRl AR eI i UgATWE Tl
HHARRY | 6

‘Silkiya Ltd.” is a company manufacturing silk cloth. It has been
consistently earning good profits for many years. This year too, it has
been able to generate enough profits. There is availability of enough
cash in the company and good prospects for growth in future. It is a
well-managed organisation and believes in quality, equal employment
opportunities and good remuneration practices. It has many shareholders
who prefer to receive a regular income from their investments.

It has taken a loan of ¥ 60 lakhs from SBI Bank and is bound by certain
restrictions on the payment of dividend according to the terms of the loan
agreement.

The above discussion about the company leads to various factors which
decide how much profit should be retained and how much has to be

distributed by the company.

Quoting the lines from the above discussion, identify and explain any

four such factors.
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Q. 'Reliable Transport Services Ltd.' specialises in transporting fruits and
vegetables. It has a good reputation in the market as it delivers the fruits
and vegetables at the right time and at the right place.

State with reason whether the working capital requirements of 'Reliable
Transport Services' will be high or low.

Ans. Low, as it is a service industry, which usually do not have to maintain
inventory.

% mark for
identification
+
% mark for
reason

“t'

1 mark

Q. 'Glow and Shine Ltd.' is a famous beauty brand offering organic
beauty products for men and women. The company uses plant-based
material for its products and is the No. 1 beauty brand in the country. It
not only satisfies its customers but also believes in overall protection of the
planet.

Identify the marketing management philosophy being followed 'Glow and
Shine Ltd.'

Ans. Societal marketing concept.

1 mark

Q. Pankaj purchased a car from 'Abhishek Motors' for Rs. 50 lakhs. The
company offered many attractive gifts to Pankaj like - free insurance for
first two years, free pick-up and drop facilities for free servicing upto
20,000 km, etc. But after a few days Pankaj noticed that the pick-up of the
car was not good and there was some problems in the engine. The
company serviced the car free of cost but even then Pankaj was not
satisfied with its performance. 'Abhishek Motors' is not giving him the
due response. So he filed a complaint in the State Commission but was not
satisfied with its decision also. He was very much disturbed and after two
months decided to appeal against it.

Can Pankaj appeal against the decision of the State Commission? Give
reason in support of your answer.

Ans. No, Pankaj cannot appeal now as the appeal has to be filed within 30 days
of passing of the order by the State Commission.

“t'

1 mark

Q. Why is it said that principles of management are mainly behavioural in
nature?

Ans. Principles of management are mainly behavioural in nature as they aim at
influencing behaviour of human beings.

1 mark
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Q. 'Bawa Cycles' was in the business of manufacturing racing-cycles and
had a monopoly in the market. The business was doing very well and the
company was consistently meeting its objective of 10% increase in sales
every year. Encouraged by the good track record, the Managing Director
of the company kept an ambitious target of 15% increase in sales for the
next year. The same year two competitors also entered the market and
because of this the company was not able to meet its target.

Identify the limitation of one of the functions of management because of
which the company was not able to achieve its target.

Ans. Planning may not work in a dynamic environment.

1 mark

Q. How do 'Floatation costs' affect the choice of capital structure of a
company? State.

Ans .’Floatation costs’ affect the choice of capital structure of a company as
higher the floatation costs, less attractive the source of finance.

1 mark

Q. What is meant by ‘Liberalisation’?

Ans. Liberalisation means removal of unnecessary controls and restrictions on
business.

1 mark

Q. Give the meaning of ‘Rule’ as a type of plan.

Ans. A Rule is a specific statement that informs what is to be done and not to
be done.

1 mark

Q. What is meant by ¢ functional structure’ of an organization? State its
any two advantages.

Ans. Functional structure is an organisational structure formed by grouping
of jobs of similar nature under functions and organising these major functions
as separate departments like production, finance etc.

Advantages: (any two)
(a) It leads to occupational specialisation since emphasis is placed on specific

functions.

(b) It promotes control and coordination within a department because of
similarity in the tasks being performed.

(c) It increases managerial and operational efficiency.

(d) It lowers cost as it reduces duplication of effort.

(e) It makes training of employees easier as it focuses on a limited range of
skills.

1 mark for
the
meaning

+

1 mark for each
statement

1x2

2 marks
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(c) Explain any other communication barrier of the same category.
Ans. (a) Organisational facilities.

(b) Organisational barriers which are related organisational structure, authority

(f) It ensures that different functions get due attention. 3 marks
(If an examinee has given only the heading, /2 mark for each heading
should be awarded)
10 Q. Distinguish between Capital Market and Money Market on the basis of
the following :
(a)Participants
(b) Instruments
Ans. DISTINCTION BETWEEN CAPITAL MARKET AND MONEY
MARKET
Basis CAPITAL MONEY MARKET
MARKET
(a)Participants The participants in the | Participants in the money
capital market are — | market are financial 17 marks
financial institutions, | institutions, RBI, banks,
banks, public and public and private
private companies, companies and individual
foreign investors and | investors.
ordinary retail +
investors from the
public.
(b) Instruments The main instruments | The main instruments 1’2 marks
traded in the capital traded in the money
market are — Equity | market are Treasury Bills, =
Shares, Debentures, Commercial Bills, 172+17%
Preference Shares, Commercial Paper and =
Bonds etc. Certificates of Deposit. 3 marks
11 Q. KPM Ltd.' is manufacturing breads and biscuits for many years. It has 1 mark for
approximately 150 employees and most of them are not happy with the identifying the
working environment. Because of this the labour turnover rate is very barrier
high. Therefore the company appoints a new Human Resource Manager, +
Naveen, to analyse the situation. Naveen finds that there is no free flow of Y2 mark for
communication, and there is no suggestion box for the employees to voice naming
their suggestions or grievances. The company rarely organises a social or the category of
cultural gathering, the employees just come, finish their work and leave barrier
the organisation. +
(a) Identify the communication barrier discussed above. 2 mark for
(b) State the category of this communication barrier. stating the

category of

the barrier
+

(2 mark for

naming another
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relationships, rules and regulations. barrier
+
(c) Other barriers in the same category are: (Any one) Y2 mark
(1) Organisational policy. for its
(i1) Rules and regulations. explanation)
(i11) Status. =
(iv) Complexity in organisational structure. 1+1+1
3marks
12 Q. How do the 'market related factors’ affect the choice of channels of
distribution? Explain. %2 mark for the
heading
Ans. Market related factors which affect the choice of channels of distribution: +
Y2 mark for each
(1) Size of the market explanation
(i1) Geographical concentration of potential buyers. =
(i11) Quantity purchased. 1x3
(If an examinee has not given the headings, no marks should be deducted) 3marks
13 Q. Aarav was working as a supervisor with 'Neer Purifier Ltd.' which was
producing water purifiers. The target of the company was to produce 200
water purifiers every day. His job was to make sure that work goes on 1 mark for
smoothly and there was no interruption in production. To achieve this, he identification
always gives orders and insists that they are obeyed. He believes that +
reward or punishment both can be given depending upon the 1 mark for each
performance. point
Identify and describe the leadership style being adopted by Aarav. of
description
Ans. Autocratic style of leadership. =
1x2
* An autocratic leader gives orders and insists that they are obeyed. He =
does not give the subordinates any freedom to influence his decision. 2 marks
* He determines the policies for the group without consulting them. He 1+2
does not give information about future plans but simply tells the group =
what immediate steps they must take. 3 marks
14 Q. State any four points which highlight the importance of management.
Ans. Importance of management: (Any four)
(1) It helps in achieving group goals by giving a common direction to 1 mark for
individual effort. each
statement
(i1) It increases efficiency by reducing costs and increasing productivity.
(i11) It creates a dynamic organisation by making the organisation adapt itself
to the changing environment. 1x4
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(iv) It helps in achieving personal objectives by motivating and leading in such
a way that both personal goals and organisational objectives are accomplished.

(v) Management helps in the development of society
by providing good quality products and services, creating employment and
adopting new technology etc.

(If an examinee has given only the heading, /2 mark for each heading
should be awarded)

4 marks

15

Q. Explain the following rights of a consumer as provided under
Consumers Protection Act, 1986:

(a) Right to choose

(b) Right to seek redressal.

(a) Right to choose

= The consumer has the freedom to choose from a variety of products at
competitive prices.

= Marketers should offer a wide variety of products in terms of quality, price,
size etc. to enable the consumer to make the choice.

(b) Right to seek redressal:

= The consumer has a right to get relief in case the product or service falls
short of his expectations.

= The Consumer Protection Act provides relief to customers such as
replacement of product, removal of defect in the product, compensation for
any loss or injury suffered by the consumer.

2 marks

+

2 marks

4 marks

16

Q. 'Zaira Ltd.' is a large and creditworthy company manufacturing air-
conditioned buses for the Indian market. It now wants to export these
buses to other countries and decides to invest in new hi-tech machines.
Since the investment is large, it requires long-term finance. It decides to
raise funds by issuing equity shares. The issue of equity shares involves
huge floatation cost. To meet the expenses of floatation cost, the company
decides to tap the money market.

(a) Name and explain the money market instrument the company can use
for the above purpose.

(b) What is the duration for which the company can get funds through
this instrument ?

(c) State any other purpose for which this instrument can be used.

Ans. (a) Commercial Paper.

It is an instrument issued by large and creditworthy companies to raise short
term funds at lower rates of interest than the market rates. It is an unsecured,
negotiable promissory note with a fixed maturity period.

(b) 15 days to one year.

1 mark for
naming the
instrument
+
1 mark for its
explanation
+
1 mark for
duration
+
1 mark for any
other purpose

1+1+1+1
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(c) It can also be used for seasonal and working capital needs. =
4 marks

17 Q. 'Adharshila Vidyalaya' believes in holistic development of students and
encourages team building through a mix of curricular, co-curricular and
sports activities. On its Founders' Day a stage performance had to be put
up. A committee of ten prefects was constituted to plan different aspects of
the function. They all decided to use recycled paper for decoration. As
there was a spirit of unity and harmony and all members supported each
other with mutual trust and belongingness, the programme was
systematically planned and executed. Arvind, one of the prefects, realized
that unknowingly the group had applied one of the principles of
management while planning and executing the programme. He was so
inspired by the success of the function, that he asked his father to apply
the same principle in his business. His father replied that he was already
using this principle.

(a) Identify the principle of management applied for the success of the
programme.

(b) State any two features of management highlighted in the above
paragraph.

(c) Identify any two values which 'Adharshila Vidyalaya' communicated
to the society.

Ans. (a) Principle of management - Espirit de corps.

1 mark for
(b) Features of management: (Any two) identifying
the

(1) MANAGEMENT IS PERVASIVE. principle

‘...he asked his father to apply the same principle in his business’.

Management is pervasive as it can be applied to all types/ levels of
organisations.

(1)) MANAGEMENT IS A GROUP ACTIVITY +

‘There was a spirit of unity and harmony and all members supported each
other.

Management is a group activity because it requires team work and/or
coordination of individual efforts.

(111)) MANAGEMENT IS GOAL ORIENTED. Y2 mark for
stating each
‘co..the programme was systematically planned and executed’. feature

Management is goal oriented as it unites the efforts of different individuals (2x2)
towards achieving organisational goals. =
1 mark

(iv) MANAGEMENT IS MULTI-DIMENSIONAL
20
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‘...programme was systematically planned and executed’.

OR

‘There was a spirit of unity and harmony and all members supported each
other’.

Management is multi-dimensional as it involves management of work, people
and operations.

(v) MANAGEMENT IS INTANGIBLE

‘With mutual trust and belongingness...." .

OR

‘There was a spirit of unity and harmony and all members supported each
other’.

Management is intangible as it cannot be seen but its presence can be felt in the
way the organisation functions.
1 mark for each

(IF AN EXAMINEE HAS IDENTIFIED THE FEATURE OF value
MANAGEMENT CORRECTLY, FULL CREDIT BE GIVEN FOR =
EITHER QUOTING THE LINE OR GIVING THE STATEMENT) (1x2)
(c) Values being communicated to the society: (Any two) 2 marks
(1) Concern for the environment. 1+1+2
(i1) Holistic development of children. =
(111) Teamwork 4 marks

(or any other correct value)

18 Q. The workers of 'Swastik Ltd.' are unable to work on new computerized
machines imported by the company to fulfil the increased demand.
Therefore the workers are seeking extra guidance from the supervisor and
the supervisor is overburdened with the frequent calls of workers.

Suggest how the supervisor, by increasing the skills and knowledge of
workers, can make them handle their work independently.

Also state any three benefits that the workers will derive by the decision of
the supervisor.

1 mark
Ans. Training of employees/ Vestibule training/ On the job training.

+
Benefits the workers will derive by the decision of the supervisor: (Any three)

1 mark for each

(a) It helps in promotion and career growth due to improved skills and statement

knowledge. =

(b) It helps him to earn more due to improved performance. 1x3
21
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(c) It reduces accidents as the employees are more efficient to handle 3 marks
machines. =
1+3
(d) It increases the morale of the employees as the employees are more =
satisfied. 4 marks
(If an examinee has given only the heading, /2 mark for each heading
should be awarded)
19 Q. Harsh started a company 'Tiny-Toys Ltd.' to manufacture economical
toys for the Indian rural market, with 20 employees. The company did
very well in its initial years. As the products were good and marketed well,
the demand of its products went up. To increase the production the
company decided to recruit additional employees. Harsh who was earlier
taking all decisions for the company had to selectively disperse the
authority. He believed that subordinates are competent, capable and
resourceful and can assume responsibility for effective implementation of
their decisions. This paid off and the company was not only able to 1 mark for
increase its production but also expanded its product range with different identifying the
features. concept
(a) Identify the concept used by Harsh through which he was able to steer
his company to greater heights. +
(b) Also explain any three points of the importance of this concept.
(Y2 mark for the
Ans. (a) Decentralisation. heading
+
(b) Importance of decentralisation: (Any three) Y2 mark
(1) Develops initiative among subordinates. for its
(i1) Develops managerial talent for the future. explanation)
(111) Quick decision making. =
(iv) Relief to top management. 1x3
(v) Facilitates growth. =
(vi) Better control. 3 marks
(if an examinee has not given the headings as above but has given the 1+3
correct explanation, full credit should be given) =
4 marks
(IF THE CONCEPT IS WRONGLY IDENTIFIED BUT THE POINTS OF
IMPORTANCE ARE CORRECT, DUE CREDIT BE GIVEN)
20 Q. Give the meaning of ‘Informal Organisation’. State its any two
advantages and any two disadvantages.
Ans. Informal organisation is a network of personal and social relations within
the formal organisation arising spontaneously as people associate with one
another.
Advantages of informal organisation: (Any two)
1 mark for the
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(1) It leads to faster spread of information as well as a quick feedback.

(11) It fulfills the social needs of the members.

(111) It contributes towards fulfillment of organisational objectives by
compensating for inadequacies in the formal organisation.

Disadvantages of informal organisation: (Any two)

(1) It may spread rumours which may work against the interest of the formal
organisation.

(11) It may resist changes which may delay or restrict growth.

(1) It pressurizes members to conform to group expectations.

(If an examinee has given only the heading, /2 mark for each heading
should be awarded)

meaning
+
1 mark for each
advantage

1x2

2 marks
+

1 mark for each
disadvantage

1x2

2 marks

1+2+2

5 marks

21

Q. A company was manufacturing solar panels for charging of mobiles
which were in great demand. It was found that the target of producing 500
solar panels a day was not being met by the employees. On analysis it was
found that the workers were not at fault. Due to non-availability of raw
materials and shortage of workers, the company was not able to achieve
the set targets and alternative arrangements were needed. To meet the
increased demand the company assessed that approximately 66 additional
workers were required out of which 6 would work as heads of different
departments and 10 would work as subordinates under each head. The
required qualifications and job specifications were also enlisted. It was
also decided that necessary relaxation should be given to encourage
women, persons from backward and rural areas and persons with special
abilities to assume responsible positions in the organisation. All efforts
were made to match the ability of the applicants with the nature of work.
(a) Identify the functions of management discussed above.

(b) State the two steps in the process of each function discussed in the
above para.

(¢) List any two values which the company wants to communicate to the
society.

Ans. (a) Staffing and controlling.
(b) Steps in Staffing:

(1) Estimating manpower requirements which involves knowing how many
persons are needed and of what type.

‘To meet the increased demand, the company assessed that .... subordinates
under each head’.

(2 mark for
identifying each
function

“nx2

1 mark)

+

(2 mark for
identifying each
step
+

% mark for
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(i1) Recruitment which involves searching for prospective employees and
stimulating them to apply for jobs in the organisation.

(IF AN EXAMINEE HAS ONLY IDENTIFIED ‘ESTIMATING
MANPOWER REQUIREMENTS’ AS A STEP IN THE STAFFING
PROCESS, FULL CREDIT IS TO BE GIVEN)

Steps in controlling: (Any two)

(1) Comparison of actual performance with the standards which would reveal
the deviation between actual and desired results.

‘It was found that the target of producing 300 bulbs a day was not met by the
employees’.

(i1) Analysing deviations which would help to find out the causes of deviation.

On analysis, it was found that the workers were not at fault....alternative
arrangements were needed.

(i11) Taking corrective action, if required.

To meet the increased demand, the company assessed that approximately ....as
subordinates under each head.

(If an examinee has given all the steps of the process, /2 mark may be
deducted)

(c) Values which the company wants to communicate to the society: (Any
two

(1) Using environment friendly methods of production.

(i1)) Women empowerment.

(i11) Upliftment of underprivileged sections of the society.

(or any other correct value)

either quoting
the line
OR
stating the step
2x4

2 marks)
+
(1 mark for each
value

1x2

2 marks)

1+2+2

5 marks

22

Q. Kavya had been working with 'Reliable Ltd.' for the last ten years. She
was famous for her dedication towards the work. When the manager
senior to her retired, all her colleagues thought that now Kavya would be
promoted. But to everyone's surprise the vacant post was filled by an
outsider 'Miss Garima'. Because of this, Kavya felt demoralised and her
performance started declining. She would absent herself often and could
not meet her targets.

Miss Garima was a good leader who would not only instruct her
subordinates but also guide and inspire them. She noticed Kavya's
behaviour and felt that her performance could be improved. She started
involving Kavya in decision-making issues related to the organization and
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made her a member of a high-level joint management committee. Kavya 1 mark for

was now punctual to office and her performance started identifying the

(a) Identify the function of management being performed by Garima. function

(b) Name the element of the above function of management which helped +

Garima to improve Kavya's behaviour. 1 mark for

(c) State any three features of the element identified in (b) above. identifying the

element

(a) Directing. =

+

(b) Motivation. 1 mark for each

feature

(c) Features of motivation: (Any three) =

(a) It is an internal feeling. (1x3)

(b) It produces goal directed behaviour. =

(c) It can be positive or negative. 3 marks

(d) It is a complex process. =

1+1+3

(If an examinee has identified the element in part (b) as non financial =

incentive, full credit is to be given) 5 marks

23 Q. Explain the following principles of management:

(a) Authority and Responsibility.

(b) Development of Each and Every Person to His or Her Greatest

Efficiency.

Ans. (a) Authority and Responsibility

Meaning: There should be a balance between authority and responsibility.

= An organisation should build safeguards against abuse of managerial 1x3
power.

= At the same time, the manager should have the necessary authority to carry
out his responsibility.

» The manager should have the right to punish a subordinate for not obeying =
orders but only after sufficient opportunity has been given to a subordinate 3 marks
for presenting his /her case.

( Any two points from the above points along with the meaning) +

(b) Development of Each and Every Person to His or Her Greatest Efficiency

= This principle is concerned with efficiency of employees which could be 1x3
built in right from the process of employee selection. =

= The work assigned to employees should suit their capabilities. They should 3 marks
be given the required training to increase their efficiency.

= Efficient employees would produce more and earn more. This will ensure 3+3
their greatest efficiency and prosperity for both the company and the =
workers. 6 marks

24 Q. Vasvi was a student of Commerce in class XII. Her father was a

farmer, who grew different varieties of wheat and was well versed about
various aspects of wheat cultivation. He was also selected by the
government for a pilot-project on wheat cultivation. As a project she
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decided to study the feasibility of marketing good quality wheat at
reasonable price. Her father suggested to her to use internet to gather
customers' views and opinions. She found that there was a huge demand
for organic-packed wheat. She knew that there were no pre-determined
specifications in case of wheat, because of which it would be difficult to
achieve uniformity in the output. To differentiate the product from its
competitors, she gave it

the name of 'Mahan-organic-wheat' and classified it into three different
varieties namely - Popular, Classic and Supreme, based on the quality.
She felt that these names would help her in product differentiation.
Explain the three functions of marketing, with reference to the above
paragraph.

Ans. Functions of marketing, with reference to the above paragraph are:

(1) Gathering and analysing market information.
‘...use internet to gather customers’ views and opinions.’
(1) Standardisation and Grading/ Grading.

‘...no pre-determined specifications in case of wheat because of which it would
be difficult to achieve uniformity in the output.’

OR
‘...classified it into three different varieties namely — Popular, Classic and
Supreme, based on the quality’.

(i11) Branding.

‘To differentiate the product from its competitors, she gave it the name of
‘Mahan Organic Wheat'.’
OR

She felt that these names would help her in product differentiation.

(IF AN EXAMINEE HAS IDENTIFED THE FUNCTIONS
CORRECTLY AND HAS GIVEN THE EXPLANATION WITHOUT
QUOTING THE LINES FROM THE ABOVE PARA, FULL CREDIT IS
TO BE GIVEN)

1 mark for
naming the
function
+
% mark for
quoting
the line
+
% mark
for its
explanation

2x3

6 marks

25

Q.' Silkiya Ltd.' is a company manufacturing silk cloth. It has been
consistently earning good profits for many years. This year too, it has been
able to generate enough profits. There is availability of enough cash in the
company and good prospects for growth in future. It is a well-managed
organisation and believes in quality, equal employment opportunities and
good remuneration practices. It has many shareholders who prefer to
receive a regular income from their investments.

It has taken a loan of Rs.60 lakhs from SBI Bank and is bound by certain
restrictions on the payment of dividend according to the terms of the loan
agreement.

The above discussion about the company leads to various factors which

Get More Learning Materials Here : &

26

@E www.studentbro.in




decide how much profit should be retained and how much has to be
distributed by the company.
Quoting the lines from the above discussion, identify and explain any four

such factors. Y2 mark for
identifying the
Ans. Factors affecting dividend decision: (Any four) factor
+
(1) Stability of earnings % mark for
quoting the line
‘It has been consistently earning good profits for many years’. +
Y2 mark for
Stability of earnings affects dividend decision as a company having stable explanation
earnings is in a position to declare higher dividends. =
1%x4
(i1) Cash Flow position =
6 marks

‘There is availability of enough cash in the company’.
A good cash flow position is necessary for declaration of dividend.

(i11) Growth Prospects

‘Good prospects for growth in the future’.
If a company has good growth opportunities, it pays out less dividend.

(iv) Shareholders’ preference

‘It has many shareholders who prefer to receive regular income from their
investments’.

Shareholder’s preference is kept in mind by the management before declaring
dividends.

(v) Contractual constraints

‘It has taken a loan of Rs.60 Lakhs from SBI Bank and ....agreement’

While taking dividend decision, companies keep in mind the restrictions
imposed by the lenders in the loan agreement.
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